ANSWERS
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Aclclitien.Puzzle

Complete the cross-word puzzle with the answers to the addition problems below. Remember, a decimal
point counts as one cell. Use scratch paper if necessary for showing your work.
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1454+ 524 =9.78 23/72.9+605.7=978.6
3482.2+214.5 =696.7 47913+ 3.458=15.371
690033 +563.09= 6.251 5758+ 1.07=2.65
913/.4+46.8=184.2 7 68.681 +86.943 = 115.624
113.4/4 + 5.683 =9.157 8 4.003 +2.248 =6.251
14 12.79 + 2.36 =15.15 10 V/.448 + 15.30/ = 42.755
154.094 + 2.833=7.127 1251 +26=17.7
16 4.09 + 1.53 = 5.62 13 1.83+ 1.68 =3.51
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